interior environments				<b>NOVI</b> 48700 Grand River Ave. Novi, MI 48374 248.213.3010	DATE : PROPOSAL : PROJECT# :	
P	ROPOSAI	L FOR:		INSTALL AT:		
		Public School armington Road	-	Coolidge Elementary 30500 Curtis Road		
L	ivonia	, MI 48154		Livonia MI 481 Larry Grezak 734-744-270		
-	ALESPE			CUSTOMER P/O:	с	ONTRACT #
к. #	ick Geo <b>QTY</b>	PRODUCT		DESCRIPTION	SELL	EXTENDED
<u>~</u>	~			Allsteel IPA Contract #0997		
				MooreCo Inc NCPA Contract #07-54		
				OFS National IIPA #R142213		
				Smith System NCPA #07-44		
5	2	S911TBRL	A9P03	Transfer Painted Base Oval Lam Undecided PAINT Option L1 Gather Core Lam Opts Undecided LAMINATE Option Undecided EDGE Option Tag(s): COLLAB ROOM	339.08	678.16
6	1	S925B52	A8P01	52W Mind-Share Bench Seat P1 Paint Opts Undecided PAINT Option FSC Mixed Wood Grade 3 Uph Undecided FABRIC Option Tag(s): COLLAB ROOM	881.51	881.51
7	2	S925B52BOL	A8P01	52W Mind-Share Bolster Bench Undecided PAINT Option FSC Mixed Wood Grade 3 Uph Undecided FABRIC Option Grade 3 Uph Undecided FABRIC2 Option Tag(s): COLLAB ROOM	1,569.47	3,138.94
8	2	S941LF54SQR T	A9P07	Community 54" Square Laminate Flat Edge FSC Mixed Wood L3 Gather Wdgrn Lam Opts Undecided LAMINATE Option Undecided EDGE Option No Cutouts Tag(s): COLLAB ROOM	344.96	689.92
9	2	S941PL4	A9P07	Community 4 Leg Base	563.50	1,127.00
				Tag(s): COLLAB ROOM		

		NOVI 49700 Grand Diver Ave		DATE :	03/15/19	
	teri VIT	ior onmen	ts	48700 Grand River Ave. Novi, MI 48374 248.213.3010	PROPOSAL: PROJECT#:	
<u>#</u>	QTY	PRODUCT		DESCRIPTION	SELL	EXTENDED
10	12	RLM-MUCO	ASC27	Relate Side Std Mesh Back/Uph Seat/Casters/Arms Multi-surface Caster Charblack CLR: Carbon GRD 3 UPH FAB: Silvertex Undecided FABRIC Option Tag(s): COLLAB ROOM	296.40	3,556.80
11	4	KSC3624	ATK01	36Wx24D Banquette Cushion GRD 3 UPH Undecided FABRIC Option Tag(s): HALLWAY	389.18	1,556.72
12	4	KLB113624F	ATK01	11Hx36Wx24D Seat Base Dwr Terrace Foot Opt Titanium FSC Mix Credit L1 Core Lam Opts Undecided LAMINATE Option Tag(s): HALLWAY	560.59	2,242.36
13	2	KLTT112424	ATK01	11Hx24Wx24D Low Side Table Top FSC Mix Credit L2 Woodgrain Lam Opts Portico Teak Lam: Portico Teak Tag(s): HALLWAY	63.75	127.50
14	2	KLB112424F	ATK01	11Hx24Wx24D Seat Base Dwr Terrace Foot Opt Silver FSC Mix Credit L1 Core Lam Opts Lam: Titanium Edge: Titanium Tag(s): HALLWAY	480.38	960.76
15	4	97rx		DOT SOFT SEATING W/ ROCKING BASE 5"H x 14"W x 14"D Grade 2 - Undecided Tag(s): HALLWAY	183.75	735.00
16	2	F49056		Boost, Hex Ottoman Small, 24 x 21 x 17.75 Onyx 3D Laminate Undecided No Weight Concealed Glide (standard) No Finish (not applicable) Top Grade/Fabric Grade 6 Material Undecided Side Grade/Fabric Grade 6 Material Undecided Tag(s): HALLWAY	545.58	1,091.16
17	1	S914CWS	A9P01	Counterweight for 23" dia base All-Around Tag(s): HALLWAY	104.86	104.86
18	1	S914N22S	A9P01	22h x 23d Non-Powered All-Around Base CONTINUED	331.24	331.24

				NOVI	DATE :	03/15/19
	teri vir	ior onmen	ts	48700 Grand River Ave. Novi, MI 48374 248.213.3010	PROPOSAL : PROJECT# :	
<u>#</u>	QTY	PRODUCT		DESCRIPTION	SELL	EXTENDED
				Tag(s): HALLWAY		
19	1	S914LFR30N	A9P01	30D No Power Lam Flat Round All-Around Top L2 Gather Woodgrain Lam Opts Undecided LAMINATE Option Undecided EDGE Option Tag(s): HALLWAY	206.78	206.78
20	1	S914LFQ48N	A9P01	48D No Power Lam Flat Soft Sq All-Around Top L2 Gather Woodgrain Lam Opts Undecided LAMINATE Option Undecided EDGE Option Tag(s): LITTLE THEATRE	360.15	360.15
21	1	S914N22M	A9P01	22h x 29d Non-Powered All-Around Base	360.64	360.64
				Tag(s): LITTLE THEATRE		
22	1	S914CWM	A9P01	Counterweight for 29" dia base All-Around	117.11	117.11
				Tag(s): LITTLE THEATRE		
23	3	S923	A8P01	Scooch P2 Paint Opts CLR: Silver FSC Mixed Wood Grade 3 Uph Undecided FABRIC Option Grade 3 Uph Undecided FABRIC2 Option Tag(s): LITTLE THEATRE	398.86	1,196.58
24	2	F78061-M		Coact, Table, Single, Midback No Groove 3D Laminate Undecided 3D Laminate None Round Metal Post Undecided No Shelf No Shelf No Shelf Ganging (Set of 2) Grade 6 Material Undecided Fabric Tag(s): LITTLE THEATRE	571.62	1,143.24
25	2	F78043-M		Coact, Sofa, Midback Armless None Round Metal Post Undecided No Shelf No Shelf No Shelf Ganging (Set of 2) Grade 6 Material Undecided Grade 6 Material Undecided Tag(s): LITTLE THEATRE	1,397.34	2,794.68
26	1	F78145-M		Coact, Corner, Mid-back Round Round Metal Post Undecided No Shelf No Shelf No Shelf Ganging (Set of 2) Grade 6 Material CONTINUED <b>PAGE 3</b>	1,242.36	1,242.36

			NOVI	DATE :	03/15/19
interior environments			48700 Grand River Ave. Novi, MI 48374 248.213.3010	PROPOSAL : PROJECT# :	
<u>#</u>	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			Undecided Grade 6 Material Undecided Tag(s): LITTLE THEATRE		
27	30	34441R	LAB STOOL BLACK WITH WOOD TOP BLACK WOOD Tag(s): ART	139.77	4,193.10
28	6	25213BUTCHE R	PLANNER STUDIO 36"D x 72"W x 29"H WITH GLIDES MAPLE BUTCHER BLOCK UNDECIDED Tag(s): ART	1,004.25	6,025.50
29	1	TARIFF	COMMIDITY SURCHARGE	260.00	260.00
32	1	FREIGHT	FREIGHT	1,300.00	1,300.00
33	1	LABOR	RECEIVE, DELIVER, AND INSTALL VARIOUS LOUNGE FURNITURE, TABLES, AND CHAIRS	2,400.00	2,400.00

TERMS AND CONDITIONS OF SALE PER THE ATTACHED

DEPOSIT REQUIRED:	19,400.00					SUBTOTAL :	35,122.07
·	,					FREIGHT: INSTALL:	1,300.00 2,400.00
ACCEPTED BY			_				,
DATE ACCEPTED		PAGE	4	OF	4	TOTAL	38,822.07